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QUESTION 1

You want to combine items from different sales orders into one delivery document.
Which common characteristics are required? (Choose two.)

A. Payment terms

B. Ship-to party

C. Shipping point

D. Order type

Correct Answer: BC

QUESTION 2

Which of the following enable the processing of a delivery? (Choose two)
A. The items in a delivery are processed using various shipping points.
B. Each delivery has a unigue ship-to party.

C. The shipping point is determined for each sales order item.

D. The valid route is determined in the order header.

Correct Answer: BC

QUESTION 3

Which SAP NetWeaver component ensures company-wide unification of data and information in heterogeneous IT
environments?

A. Enterprise Portal

B. Knowledge Management
C. Enterprise Search

D. Master Data Management

Correct Answer: D

QUESTION 4

Which of the following statements regarding the organizational assignment of plants are correct? (Choose two)
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A. Delivering plants must be assigned to the same company code as the sales organization.
B. Each plant can be assigned to just one company code.

C. A plant must be assigned to at least one combination of sales organization and distribution channel so that it can be
used as a delivering plant.

D. A plant can be assigned to multiple company codes.

Correct Answer: BC

QUESTION 5

For which of the following can you use SAP Solution Manager?
A. To enable SAP application help

B. To enable SAP Note search

C. To implement the SAP Service Marketplace

D. To implement and operate SAP solutions

Correct Answer: D
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